9) Improve this auction

1 E—— 1Sp
7O — 3NT
Q3 AJO82
AJB76 K2

Q6 A87
K876 Q43

10) and this one ....

s S— 2C
7]\ p— 3NT
Q9832 KJ4
QJ 82
AKQ 987
KJ7 AQ543

The next question has two parts (a + b). You are defending both times and start
with the Ace spades against 4Hrts. You cash the K sp and at trick 3 ....?

On one of the hands you switch to the 2 clubs and on the other ,the 9 diamonds.
Which defence goes with which part? And why do you defend so differently ?

11)a) (dummy)

43
QJ9s8
AKQ
Q765

(you)

AK97

54

987

K432

b) (dummy)

43
QJ9s8
AKQJ10
Q6

(you)

AK97

54

987

K432



